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xagnd mewr ly aeaq ici lr ghyn mixveiy gipp .ilnipin mipt ghy .1
miptd ghy exear mewrd z` e`vn .y xiv aiaq xy xeyina zecewp izy

.ilnipin ghynd ly

dcewpn driqpd onf ik `ceep ef dl`ya The brachitostrone problem .2
jex` ,tlin1,2 ,zecewpd izy z` xagnd xyi jxe`l (x2, y2) dcewpl (x1, y1)

.tcyc1,2 ,dci`elwiv jxe`l zecewpd izy oia driqpd onfn
dci`elwivd ly menipinl ziy`xd oia zygxzn drepzd ik gipp)

.(x(φ) = −a(φ− sinφ), y(φ) = a(1− cosφ), a < 0

dwihnpiw ilewiyn tlin1,2 z` eayg (`)

φ(t) = {0 ≤ t ≤ tcyc1,2 ; φ(0) = 0, φ(tcyc1,2 ) = π} divixhnxt egipd (a)

tcyc1,2 =
∫ 2
1 ds/v z` eayge

tlin1,2/t
cyc
1,2 =

√
1 + 4/π2 ik e`xd (b)

dci`elwivd ly menipinl (x1, y1) dcewpn mirqep xy`k tcyc1,2 ik e`xd .3
(x1, y1) dlgzd zcewp ly dxiga lkl reaw (−πa, 2a)

zcewpa ziefd φ0 xy`k ,
∫ π
φ0

√
1−cosφ

cosφ0−cosφ
dφ lxbhpi`d z` elaw :fnx)

.(π l deey `ed ik e`xde ,dlgzdd

.zihql` zeybpzn ,dn`zda x2 e x1 zehpicxew mr m2 e m1 zeqn izy .4

.xnyp ieewd rpzd ik e`xde o`i'bp`xbld z` enyx (`)

rpz epid ieewd rpzdy jk ,ycg o`i'bp`xble zexg` zehpicxew e`vn (a)
.zilwiv dhpicxewl cenv

ze`eeyn jezne o`i'bp`xbld z` epnyx dzika rteynd xeyind ziira .5
zrk exfig .xnyp zeqnd izy ly ieewd rpzd ik ,ietvk ,eplaiw drepzd

.ef diira xear a4 lr
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m dqn .mdizevwa mixaegn cg` lk r jxe`a dqn ixqg zehen ipy .6
edvwe ,zikp` wfgen oezgzd hend .zehend on cg` lk rvn`a zraewn
.(a xei`) ikp`d henl qgia ε ziefa hqen oeilrd hend .rwxwl xaegn
.dgepnn zehend z` mixxgyn ea rbxa zeiziefd zeve`zd z` e`vn
eynzyde b xei`a x`eznk zeqnd inewin z` enyx ,ε << 1 ik egipd)
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